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if the program terminates incorrectly (e.g. without "END.") then the message ‘No more text’ will D@
Cispiayed and control returned to the editor. s tv————

If the compiler runs out of table space then the message ‘No Tadie Space’ wili be aisclayec ans
csntrol returned to the ecitor, Normally the programmer will thed ve_the arogram an taaes
re-iocad the compiler and speafy alarger Tanie size’ (see Section 0.0),

If the compilation terminates correctly but contained errors then the numoer of errars sete—ad
will be disclaved anc the ozject code deleted. If the compilation 1s suctessful then tne message

Tan?’ will be cdisglayed; if you desire an immediate run of the program then rescond with 7'
Ctherwise control will de returned to the editor.

During a run of the odject code vArious ryntime @rror messages may be generatec (see Acpenciz )
You may suspend a run by using GOy subsequently use CC to abert the run or any other =ev %
regime the run, B e
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0.2 Strong TYTTing.

‘e

Different languages have different ways of ensuring that the.user does not.use an eiement of cata
in 2 manner whuch is nconsistent with its defimition,

Al cne end of the scale there is machine code where no me whatever are mage on the TTFZ
variadie being referenced. Next we have a language like the Byte Tiny Paszal’ in whicn character,
integer and Boclean cata may be freely mixed without gensrating errirs. Further us The scale
toires BASIC which cistinguishes between numoers and SIrinE's and, sIrielimes. B iTween irtecers
anc reals (perhapgs using the ‘%’ sign to gencte integers), The comes Pasci. whiZh gces as i as
allow:ing distinct user-enumerates types. At the fcp of the miale .af *.-esent) s a 1ar;.ire Ltea
AZA in whuch cne can cefine cifferent, incomgatidle numeric vr.es.

-..There are basically twe aoproaches used by Pascal imdismentamans. fo_sTrength of nvoiag,

wo CAR Al ARPAT('A'..C’] CF DTG

— -

sTruttural equivalence or name eguivaience. Sisoft Sascal 41585 Name eQLIVad R fuf HEooADS

-

ans ARRATs. The mnsegquences of trus are X XPTied 1n Section | - les ft <us=:72 tr Jive an 2zamals
here; say two variasles are sefined as follows:

E{ ARRAYU'A' . C’) OF NTEGERS

the” cne might te temted to think that one could write ..i=3) but this wouis generite 4 2--ar
(sT==m=

SAROR® 10) uncor Hisoft Pascal 4 SIrTe two Sesaratt TYT cemorfs’ Ma.. oo cpstan =Y tps

Sove Zefiniticas. In other words, the user ras A oot S aRESIan thes SR Tl 3 isrca:
rezrisent the same type of cata. She/de couls = s bl

VAR A8 | ARRAY(’A'.."C’: CF INTEGZR!

anc “ow the user can freely assign A to ¥ ang vics varsi since 9nly-sne ‘TYOS res-3’ Ras Seen

gaataa.

£11niugn on the surface this name equivalence ioprcach may saem a littie corziicated. ir ge~o-yf ¢
.eacs o fewer proegramming errors since it requires more imtial thought from The Srogrammer,
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